oooobogoogo

00,00,00

1996 0 1200 130

1 OOooood

<« 00000 >
M,(C)=n000000000 : 2200000000
X,YeM,(C)OOODODOOOO

[X,Y]:=XY -YX

oooooo

00 (@COoo)
¢g0000 < gCM,(C): 000000D000[X,Y]eg

(VX,Y €g) 000000

<ggoboo >
00 ¢0D000000D0000DODDDOO0O0OODODODDO000ODODODO0O0G),G)0000000Og
ocooboooogooo
()g0cOoO000O0ODODDODOOO0OO0O0O0OO00
() 00000 (0)0000000 z,y,2€g0000
i) [z,2] =0
i)[[z, 5], 2] + (fy: 2 2] + [, 2] 4] = 0
goodgg

2 0ooon
(1)gl(n,C) = M,(C) : 0000000
(2)sl(n,C) ={X e M,(C)|trX =0} : DOODOOOO

tr(XY) =tr(YX) 0O tr(XY —YX) =0
00 [X,Y]esl(n,C) (VX,Y €sl(n,C))

3 Odood
¢g=000

00 (DOODO0)
a00000 < aCyg:0000, [g,agCa



O si(n,C)0O gi(n,C)00OO0OOO
(X, Y] esl(n,C) (VX,Y €g) OO [gl(n,C),sl(n,C)] C sl(n,C)

4 0OO0O0OO

00 (0OO0O0OD)
¢g000000«<=¢000000¢0 {0}00000 [g,9]=g# {0}

0 (1) ¢l(n,C) D00DOO0DOO0DOOOOO0DNO
{AL|A € C}, sl(n,C)

ooo.
0 (2)sl(n,C) 0000000

bbobgoooooooood

5 Hoooood

XegOOO
ad(X): g — g
Y — [X,Y]
ooooo,
ad(X) € End(g)
oo (s-0)

X : s-8 (semi-simple element) <= ad(X): 00000

oo (DDDDDDD)
h:gOO0ODOO0OOO
i) hCcg: 000D

!

ii) [h,h] Ch
iii) VH e h O s

iv) )0ii) 000000000 A000

6 OO0

g:ﬁ@i:%ﬂDDDD
acd
€ h* = Hom(h,C)

={Xeg|lH,X]=a(H)X,YH €h}: 0000000

= e o
I

[

o



®={aechla£0,g #0}:0000
$00000000O0OO

V=> Rach™ Euwid0000000 (0000000000)
acd
oV —V OO0

b:0,— 00 (Vae )
00000000 0C0EwlidO0O00OD0OODOOO0OOODOOODOODOODO0OO0OOODOOODOODOn

00 (DoOoooo)
A={ay, -,q}C®: 000000

< 1)l =dimh

l

l
it) ® C () Zxoe) U(D Z<os) : ADODDDDODO
i=1 1=1
00000000000000

ot =N (Y., Zsoa;): 00000
=N (X, Zeooy): 00000

7 Dynkin [

I': Dynkin O 0O

0000 :0 (i=1,---,1)
0do0oddoD4000000000000004
Q5 (&%} O[i70[j[|[||:||:|

O O 90 °

o A = )
O O 1200 el = [yl

o%o 135° [Jaull < lJayl]
o%@ 150° (ol < [l



8 UUubpoggg

00 {00000 }0~ +2} 00 DynkinOO

4, O—0O—--—0—7=0 (1>1)
B O—0——0=0 (2
&) O—C%O<:O (1>3)
D O_&,,,,70<8 (1> 4)

Eﬁooioo
E7oooioo

O—O
O
O

By O

F, O—0=0—0
6: 00

O
O
O

sl(l+1,C)0 4,00
0(2l +1,C) = {X € M1 (C)|['’X + X =0} O B0

5p(2l,C) = {XGMQ[(C)FXJ +JX:0} o o
J— 0 1;
-1; 0
O(QZ,C) = {X S MQl(C)|tX + X = O} 0 D0

ooooooOo0OOOD0OO0OODOO Es Er, B, Fy,GoO000O0O0ODOOOODOO



Hy=Ey—Eip1001 (1<i<))00000
h=CH, @®---®CH,
0000000 geh”™ O
ei(Hg) =6 —Oipp1 (1<i<Ii+1)

goooooooa

agoad
d={e;—¢gll<i#j<I+1}Ch*
Qa:CEij if OL:{:‘i*Ej

000 sl(+1,C) 0000000

sll+1,C)=ha® Y g
aced

U000 oa;=¢ —¢it1 DDDDSZ(I—I—LC)DDDDDDDD
A={a, -, 0q}

0 0 Dynkin 0 0O O

good

9 obooono

¢g0000 {Hyeh, E,cg |ac®}000 (1),(2),(3) 000000000000
(1) [Ha, Hg) =0
(2) [Ha, Ep) = 228 By

[CR)

H, (a+8=0)
(3) [EOMEﬁ] = NaﬁEaJrﬁ (a +p€ (I))
0 (a+B8¢€P,a+B#£0)

0000N.0 g=maz{i|B—iae® 00000 Noy==+(¢+1)00000000000000
{Ho (a€A), Eg(Bed)}

U gtooouooogn



g
g=sl(l+1,C) ODODODO

gbooooOobooooboooooon

gogd
OO0 00,0000000(@Oouoon)



